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2. VIX & d vi- fE @ § f- B W3l b R 8 ?

(A)S&P 100 index options (B)S&P 500 index options

(C)Dow Jones Industrial Average index options (D)Nasdaq 100 index options
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dS,= 0.10S,dt + 0.06S,dZ
dS,= 0.25S,dt + 0.20S,dZ

(A)0.02 (B)0.025 (C)0.06 (D)0.036
A, FIHPAREOT AR FGRAE > THRET A= A2 5 Kok ?
(A)§ &g 8 i (long straddle) (B)# & 5¢ 2% i=(short straddle)
(C)§ &yt £ (long butterfly spread) (D)# f1ig i £ (short butterfly spread)
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(A, 1l B, IV ©), 1 (D)1, IV
10.i& * Black-Scholes £ ## < % =347 » 5 B N(d1)2 N(d2)2 4zif i@ —‘ﬁﬁ FE 9

(A)N(d1)™ * >+ 3% 8 %%+ ¥ (hedge ratio)z. 3+ &

(B)N(d2) = %7 § 8> 3|8 P et 5 (In the money) 2 #% 5

(CIN(-d2) = ®r5¢ ¢ 4> 3|8 pF >t § p (In the money)2. 4 &
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(A)¥ & * Black-Scholes i # # @i} = _%’g.f? Gl
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(A)10,500 (B)10,600 (C)10,700 (D)10,800
Lhi s Ehp S #
82 312 10,500
131 243 10,600
189 191 10,700
253 132 10,800
343 85 10,900
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ENCIERNCE UE R SLE Bwﬂ%%@&v%p4ﬁi¢f£9
(A)$76.1 (B)$77.7 (C)$78.3 (D)$80.7
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(A)Covered Call (B)Reverse Covered Call (C)Protective Put (D)Reverse Protective Put
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(A) 0.62 (B)0.5 (C)0.48 (D)0.42
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(A)7.2% (B)7.4% (C)7.6% (D)7.8%

26.% % f# Delta 5 0.3 RI#£# = >4pf 2 § ¥ Delta 3 = ?
(A)-0.7 (B)-0.3 (C)0.7 (D)0.3
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(A)= ~:E # f#(Binary Options) (B) & 3\ :E & f# (Asian Options)

(C)p # £ # #(Bermudan Options) (D) w &8 5\ iE # J# (Lookback Options)
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(A)p & £ (calendar spread) ¢ 7 Ap 40 {7 § #5 » & 3 I 2|4 p uE % 4§
(B)sw it £ (butterfly spread) & 7 = i 7 I 34 {7 i 5 chif 5
(C)z ¢ % £ (bear spread) ¢ 7 § éﬁ FHEREREPEE IR
(D)isst % % (straddle)# 27 B2 T HER2ZFEZ § 8
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